A EX2elt

Hu: EX22|9 SBHIELNANL/NALEA)

SHel: DUSAO| EXHT 29 CLIED

SAH - ZE . BRA(E) - MRAY - BES ofl &k 24 pIE=L! HmE=ET
Exizeln 3,704,030 3,345,710 358,320
= 659,400 659,400 0
= 107,000 0 107,000
= 2,937,630 2,686,310 251,320
EXRIY EBEHBELNHNL/NHLTA) 1,529,000 1,312,000 217,000
= 659,400 659,400 0
= 107,000 0 107,000
= 762,600 652,600 110,000
DIUSHO EXNBE 2Y 50,000 10,000 40,000
EXizel U HHIA =Y 50,000 10,000 40,000
201 L2l 40,000 0 40,000
01 AbR22lH] 40,000 0 40,000
OUISEEX ZA S8 40,000 0 40,000
EXNE 2% 119,000 94,000 25,000
2 46,400 46,400 0
= 72,600 47,600 25,000
A==y gD 42,600 17,600 25,000
201 L2l 30,600 5,600 25,000
01 AbR22IH| 30,600 5,600 25,000
OLRET AOIEAL - SEAE FAIAIY 25,000 0 25,000
MZEA - B2 B3 1,360,000 1,208,000 152,000
= 613,000 613,000 0
s 107,000 0 107,000
= 640,000 595,000 45,000
MZE2 - B2 B3t A 621,000 469,000 152,000
= 107,000 0 107,000
= 514,000 469,000 45,000
201 Y2l 218,000 148,000 70,000
= 25,000 0 25,000
= 193,000 148,000 45,000
02 T3S 218,000 148,000 70,000
OTZYFA FBAAY 2F&Y HA 50,000 0 50,000
= 25,000 0 25,000
= 25,000 0 25,000
OXIHTARY| 2 168,000 148,000 20,000
308 XHXISHHISOIR 92,000 10,000 82,000
s 82,000 0 82,000
= 10,000 10,000 0
01 KIXISHZS2ES 92,000 10,000 82,000
OT2YFA DX - DA A X 82,000 0 82,000
s 82,000 0 82,000
SSTO A (LB BIUT /L) 2,138,120 1,996,800 141,320
2. TR 22 2,138,120 1,996,800 141,320
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